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Essential Question: How can | efficiently solve problems?
3.NBT.2/3.0A.8

At McGarrah’s Pumpkin patch, there are ___ vines of pumpkins. There are
pumpkins on each vine. Farmer McGarrah also has 25 small pumpkins that are
just sitting in his field. How many pumpkins does Farmer McGarrah have
altogether?

(7, 8) (6, 15) (7,9) (7, 10)

The bakery at Wal-Mart baked 175 sugar cookies, 250 chocolate cookies, and 325
oatmeal cookies. At lunch, they sold 225 cookies. How many cookies did the
bakery have left?
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